



17 Oktober 2023

Malaysia Productivity Corporation
Lorong Produktiviti, Jalan Sultan
46200 Petaling Jaya, Selangor

Attn: Tuan Al Hisyam Bin Abdul Halim

Salam Tuan,

RE. : QUOTATION CR INTEGRASI ANTARA SISTEM eROADS DAN mySIKAP

Please refer to table below for our proposed price with regards to the abovesaid matter.

No.	Perkara	HTP Mandays	Owner	Harga / Unit (RM)	Jumlah Harga (RM)
1	Finalize Requirement	-	-	-	-
2	Documentation - IDD/SDD/SRS	3	HTP	2,150.00	RM 6,450.00
3	Design	-	-	-	-
4	Development & Unit Testing	44	HTP	2,150.00	RM 94,600.00
5	ST/ SIT	6	HTP	2,150.00	RM 12,900.00
6	UAT	3	HTP	2,150.00	RM 6,450.00
7	Deployment	1	HTP	2,150.00	RM 2,150.00
Total		57			RM 122,550.00
SST 6%					RM 7,353.00
GRAND TOTAL					RM 129,903.00

TERMS AND CONDITIONS:

- i. Activities above is based on initial scope as of the date of quotation. Any additional scope or tasks will be considered as Variation Order (VO)
- ii. Validity: 14 days from the date above.
- iii. Warranty: 30 days from the date of Transfer to Production Authority (TPA).
- iv. Any additional scope in work either from JPJ or otherwise, there will be a change in cost.

Please do not hesitate to revert or call me at 017-6712622 or email to muizzshaari@heitech.com.my for any queries with regards to this quotation.

Thank you.

for HEITECH PADU BERHAD

A handwritten signature in black ink, appearing to read "Muizz".

Muammed Muizz Shaari
Account Manager
HNext - Transport

By signing this quotation, Buyer confirms that it accepts the General Sales T&Cs and all terms and conditions contained herein, to which Buyer hereby agrees that this quotation and any purchase of Goods herein provided are subject to.

Acknowledgement

I accept the above quotation and its general terms and conditions.

Name/signature Co Stamp Date

REQUEST FOR QUOTATION

Client:	Malaysia Productivity Corporation	Project:	eRoads Enhancement
Contact:	En. Al Hisyam Abdul Halim	Project No.:	2023/11-01
Phone:	+6012-2454847	Revision:	R1
E-mail:	alhisyam@mpc.gov.my	PIC:	Alex/Thum
		Proposal Date:	9 th November 2023
		Manday(s):	257.5
		Manday Rate:	RM 1,120

Item	Description	Hrs	Man-days	Unit (RM)/Manday	Subtotal (RM)
1.0	JPJ Integration Create Data Request Payment Gateway Integration Send Receipt and receive data Parse data and store Manage Transaction Logs for each request	240	30	1120	33,600.00
2.0	UI / UX Design Create new UI / UX design for e-Roads Implement UI / UX on all pages Integrate with backend	240	30	1120	33,600.00
3.0	Authentication Module Create a authentication module for client login Register clients with username / password Authenticate clients with username / password Forgot Password	80	10	1120	11,200.00
4.0	LSP Registration Create a form for LSP Registration Capture required mandatory fields Store and create an account for login	120	15	1120	16,800.00
5.0	Company Registration Create a form for Company Registration Capture required mandatory fields Store and create an account for login	120	15	1120	16,800.00
6.0	Driver Registration Under LSP Login option to add driver	120	15	1120	16,800.00

Nuemera (M) Sdn Bhd

Level 10, Uptown 5 D,
 5, Jalan SS 21/39, Damansara Utama,
 47400 Petaling Jaya,
 Selangor DE, Malaysia.
 Tel: +60 (3) 7710 2020
 Fax: +60 (3) 7729 2020
 Web: www.nuemera.com



	Capture required mandatory fields Upload required document List all Driver with traffic light based on JPJ integration Option to refresh JPJ Data Assign Driver to Company				
7.0	Trailer Registration Under LSP Login option to add Trailer Capture required mandatory fields Upload required document List all Trailers with traffic light based on JPJ integration Option to refresh JPJ Data Assign Trailer to Prime Mover	120	15	1120	16,800.00
8.0	Prime Mover Registration Under LSP Login option to add Prime Mover Capture required mandatory fields Upload required document List all Prime Movers with traffic light based on JPJ integration Option to refresh JPJ Data Assign Prime Mover / Trailer to Company	120	15	1120	16,800.00
9.0	Gate Check Create a web page to be used at Gate Option to search by Driver ID / Vehicle ID Show Traffic light based on JPJ data Option to refresh data once a day for each driver / vehicle Capture Gate check remarks, store with timestamp	180	22.5	1120	25,200.00
10.0	e-Check System Create a web page to be used for Driver Option to search by Driver ID Show Traffic light based on JPJ data Option to refresh data once a day for each driver / vehicle Capture Gate check remarks, store with timestamp	120	15	1120	16,800.00
11.0	Dashboard & Reports Show Vehicles with Red / Green / Amber Show Drivers with Red / Green / Amber Total Gate checks done by day Option to download Vehicle / Driver data in excel Option to download gate check data in excel	240	30	1120	33,600.00

12.0	Testing Test all Modules for UI / UX Test all Modules for Data validations Test all Modules for Data sanity Test all Modules for expected functionality	240	30	1120	33,600.00
13.0	Hosting & Deployment Create a development and Test Environment Create Production Environment Configure EC2 Instance for Web Server Configure RDS PostgreSQL for database Create Required S3 Buckets for Documents Deploy Code	120	15	1120	16,800.00
14.0	JPJ Access Transactions Costs (1000 transactions X RM10 per transaction)			10,000	10,000.00
		Total Hrs: Total Man-days:	2060	257.5	
					Total (RM): 298,400.00 Amount absorbed by Nuemera: (155,400.00) 143,000.00 SST 6%: 8,580.00 Grand Total: 151,580.00

Terms & Conditions:

To follow the signed agreement between Nuemera (M) Sdn Bhd and the Malaysian Productivity Corporation (MPC).

Accepted by:



Nuemera (M) Sdn Bhd

Name: SALLINA MOHAMED ALI
 Designation: Senior Executive, Finance/HR/Admin
 Date: 16/11/2023

Malaysia Productivity Corporation

Name:
 Designation:
 Date: